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khfhzf; fy;tpj; jpizf;fsk ; 

tlf;F khfhzk; 

,uz;lhk;; jtizg; guPl;ir − 𝟐𝟎𝟐𝟑 

  

 

  

 

 

 

 

  

 

gFjp 𝑨 

5 tpdhf;fSf;F khj;jpuk; tpil vOJf. 

1)     rhu;G 𝑦 =  5 – 𝑥2 vd;gjd; tiuig tiutjw;fhd g+uzkw;w ml;ltiz fPNo jug;gl;Ls;sJ. 

𝑥 -3 -2 -1 0 1 2 3 

𝑦 -4 1 ............. 5 4 ............. -4 

a) I. ml;ltizapYs;s ntw;wplq;fis epug;Gf. 

II. 𝑥, 𝑦 mr;R topNa 10 rpwpa rJuq;fs; Xuyfhff; nfhz;L  tiuig tiuf. 

III. ckJ tiuigg; gad;gLj;jp gpd;tUtdtw;iwf; fhz;f. 

a. rkr;rPu; mr;rpd; rkd;ghL ahJ? 

b. cau;Tg; ngWkhdk; ahJ? 

c. NkYs;s tiuigg; gad;gLj;jp √5 ,d; Neu;g; ngWkhdj;ijf; fhz;f. 

d. rhu;G kiwj;jpirapy; 8 myFfs; 𝑦 mr;R topNa efu;fpd;wJ. jw;Nghija rhu;gpd; 

miktplj;ij fUjp, rhu;gpd; rkd;ghl;il vOJf? 

2)       

i. efu rigf;F cl;gl;l tPL xd;wpw;F efurig ,iwtupahf 8% mwtpLfpd;wJ. tPl;L 

cupikahsu; xUtu; fhyhz;L ,iwtupahf &. 1800 nrYj;jpdhu;. 

a. mtu; nrYj;j Ntz;ba Mz;Ltup ahJ? 

b. tPl;bd; kjpg;gPl;Lg; ngWkhdk; ahJ? 

ii. tq;fpnahd;wpy; 12% vspa tl;bf;F Fwpj;jnthU njhifiaf; fldhfg; ngw;w xUtu; 3 

Mz;Lfspd; Kbtpy; &. 68000 nrYj;jp fldpypUe;J tpLgLfpd;whu;. 

a. mtu; tq;fpapypUe;J ngw;w fld; gzk; ahJ? 

 

juk; - 10 fzpjk; 𝐈𝐈 Neuk; - %d;W kzpj;jpahyk; 

tpdhj;jhis thrpj;J> tpdhf;fisj; njupT nra;tjw;Fk; tpil 
vOJk;NghJ Kd;Dupik toq;Ftjw;Fk; tpdhf;fis xOq;fikj;Jf; 
nfhs;tjw;Fk; Nkyjpf thrpg;G Neuj;ijg; gad;gLj;Jf. 

Nkyjpf thrpg;G Neuk; - 10 epkplq;fs; 

Kf;fpak;:  

❖ gFjp 𝑨 ,ypUe;J Ie;J tpdhf;fisAk; gFjp 𝑩 ,ypUe;J Ie;J tpdhf;fisAk; 
njupe;njLj;J nkhj;jk; 𝟏𝟎 tpdhf;fSf;F tpil vOJf. 

❖ tpdhf;fSf;F tpil vOJk;NghJ cupa gbKiwfisAk; myFfisAk; vOJf. 

❖ xt;nthU tpdhtpdJk; rupahd tpilf;F 𝟏𝟎 Gs;spfs; toq;fg;gLk;. 



 
 

2 
fzpjk;              juk; - 10(II) 

    3)  nrt;tf mlupd; ePskhdJ rJu mlupd; xU gf;f ePsj;jpd; ,U klq;fpYk; ghu;f;f 

   3 cm mjpfkhFk;. rJu mlupd; xU gf;f ePsKk;, nrt;tf mlupd; mfyKk; 𝑥  
   vdf; nfhs;f.  

 1. nrt;tf mlupd; ePsj;ij 𝑥 rhu;gpy; vOJf.  

 2. nrt;tf mlupd; gug;gsit 𝑥 thu;gpy; fhz;f. 

 3. nrt;tf mlupd; gug;gsthdJ rJu mlupd; gug;gstpYk; 40 cm2 MFk;. 𝑥  

       ,dhy; ,Ugbr;rkd;ghL 𝑥2 + 3𝑥 − 40 = 0 jpUg;jpahf;fg;gLfpwJ vdf; fhl;Lf. 

 4. tpdh 3 ,Ys;s ,Ugbr;rkd;ghl;il jPu;g;gjd; %yk; 𝑥 ,d; ngWkhdj;ijf;  
       fz;L nrt;tf mlupd; ePsj;ijf; fhz;f. 

 

4) fhuzpg;gLj;Jf 

a. 𝑥2 –  𝑥 –  12 

b. (𝑎 + 𝑏)2 −  9 

c. (𝑎 + 𝑏)2 − 𝑎 − 𝑏 

d. 𝑥 + 𝑦 =  −1, 𝑥𝑦 =  −2 vdpd; 𝑥 − 𝑦 d; ngWkhdk; ahJ? 

5)  

i.    RUf;Ff. 
2

𝑥−5
−

1

5−𝑥
 

ii. xU khk;goj;jpd; tpiy 4 nfha;ahg;goj;jpd; tpiyf;F rkdhFk;. khk;goj;jpd; 

tpiyf;Fk; nfha;ahg;goj;jpd; tpiyf;Fk; ,ilapyhd tpj;jpahrk; &. 150 MFk;. 

khk;goj;jpd; tpiy 𝑥 vdTk; nfha;ahg;goj;jpd; tpiy 𝑦 vdTk; nfhz;L 

xUq;fik rkd;ghL mikj;J jPu;g;gjd; %yk; khk;goj;jpdJk; 

nfha;ahg;goj;jpdJk; tpiyfisf; fhz;f. 

 

6) a) fg;gnyhd;W JiwKfk; A apypUe;J 1200 jpirNfhspy; 40 km gazpj;J B I 

milfpwJ. gpd;                    

 mq;fpUe;J 2400 jpirNfhspy; 40 km gazpj;J C I milfpd;wJ. 

i. NkYs;s juTfis gUk;gbg;glj;jpy; Fwpf;f? 

ii. A apypUe;J C ,d; jpirNfhs;? 

iii. C apypUe;J B ,d; jpirNfhs;? 

b) mbg;gug;G 500m2  MfTs;s Xu; fdTU tbt jlhfk; xd;wpDs; 2
1

2
 m cauj;jpw;F ePu; 

epuk;gpAs;sJ. 

i. jlhfj;jpy; cs;s ePupd; fdtsit l ,y; fhz;f. 

ii. jlhfj;jpYs;s ePiu 500 l/min vDk; rPuhd tPjj;jpy; ntspNaw;Wk; gk;gpapD}lhf 

ntWikahf;Fk; NghJ njhl;b ntWikahf vt;tsT Neuk; vLf;Fk;.  

𝑥 𝑥 
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gFjp 𝑩 

tpUk;gpa 5 tpdhf;fSf;F kl;Lk; tpilaspf;Ff 

07) xUtu; jdJ 25 MtJ gpwe;j jpdj;jpw;F ij khjk; 1k; jpfjpapypUe;J &500 I itg;gpypl;L 

Nrkpj;J tUfpwhu;. mjd; gpd; xt;nthU khjKk; 1k; jpfjp Ke;jpa khjk; itg;gpypl;l 

njhifapYk; &100 $Ljyhf itg;gpypLfpd;whd;. 

i. mtu; 3 khjq;fspYk; itg;gpypl;l njhifia KiwNa vOJf. 

ii. itg;gpypl;l njhifapd; nghJ cWg;igf; fhz;f. 

iii. mtu; 10k; khjk; itg;gpypl;l njhifia fhz;f. 

iv. vj;jidahtJ khjj;jpy; & 1600 I itg;gpypl;bUg;ghu;? 

08) cm / mm msT Nfhy;, ftuhak; vd;gtw;iw kl;Lk; gad;gLj;jp  

i. AB = 10 cm MfTs;s xU Neu; Nfhl;Lj; Jz;lk; AB ia tiuf. 

ii. AQ = 2 cm Mf ,Uf;FkhW NfhL AB kPJ Gs;sp Q If; Fwpf;f. 

iii. Q ,ypUe;J AB ,w;;F xU nrq;Fj;Jf; NfhL mikf;f. 

iv. NkNy tiue;j nrq;Fj;Jf; NfhL kPJ PQ = 6 cm Mf ,Uf;FkhW P I Fwpj;J Kf;Nfhzp 

PQB Ig; G+uzg;gLj;Jf. 

v. Q, B vd;Dk; Gs;spfspypUe;J rk J}uj;jpy; mirAk; Gs;spapd; xOf;if tiue;J mJ 

PB I ,ilntl;Lk; Gs;spia O vdg; ngaupLf. 

vi. Gs;sp O I ikakhff; nfhz;L Miu OP I Miuahf cila tl;lj;ij tiuf. 

 

09) a) 26 = 64 I klf;if tbtpy; fhl;Lf. 

b) klf;if ml;ltiziag; gad;gLj;jhJ ngWkhdk; fhz;f.  

                   log1020 + 1og102 - log104 

c) klf;if ml;ltiziag; gad;gLj;jp ngWkhdk; fhz;f. 

                               
5.432 × 989.1

379.1
 

10) 

a) ABCD, ADEF ,izfukhFk;.  

glj;jpy; jug;gl;Ls;s jfty;fisg;  

gad;gLj;jp 𝑥, 𝑦, 𝑎 ,d; ngWkhdk; fhz;f. 

 

 

𝑦 cm 

𝑥 cm 

6 cm 

7 cm 

A D 

B 
C 

F 
E 

50° 

𝑎 
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b) xU ehw;gf;fy; Xu; ,izfukhtjw;Fj; Njitahd epge;jidfs; %d;W jUf. 

c) ,izfuk; ABCD ,y; DC = CE MFkhW gf;fk; DC MdJ E tiu ePl;lg;gl;Ls;sJ.  

AC = CF MFkhW F tiu ePl;lg;gl;Ls;sJ. BEFC Xu; ,izfuk; vd epWTf. 

 

11) a) cUtpy; jug;gl;Ls;s juTfisg; gad;gLj;jp 𝑎, 𝑏 ,d; ngWkhdk; fhz;f. 

 

 

 

       b) ,izfuk; ABCD ,y; %iytpl;lk; BD ,w;F A,C Mfpatw;wpypUe;J tiuag;gl;l 

nrq;Fj;Jf;fspd; mbfs; KiwNa X, Y MFk;.  

i. ∆ AXD ≡ ∆ BCY vdTk; 

ii. AX = YC vdTk; 

iii. BX = YD vdTk; epWTf. 

 

c) Kf;Nfhzp PQR ,y;; PQ=PR MFk;. PQ̂R = 2𝑎 kw;Wk; QP̂R +  PR̂Q =  3𝑎 Mapd;,  

     QP̂R ,d; ngWkhdk; ahJ? 

 

12) 20 Ngu; nfhz;l tFg;nghd;wpy; fzpj ghlj;ij tpUk;GNthu; 15 NgUk;, tpQ;Qhd ghlj;ij 

tpUk;GNthu; 10 NgUk; cs;sdu;. ,t; ,U ghlq;fisAk; tpUk;ghNjhu; 2 Ngu; 

1. nghUj;jkhd ntd; tupg;glj;jpy; NkNyAs;s juTfisf; Fwpf;f?   

2. fzpj ghlj;ij kl;Lk; tpUk;GNthu; vj;jid Ngu;?  

3. ,uz;L ghlq;fisAk; tpUk;GNthu; vj;jid Ngu;? 

4. tFg;gpypUe;J xUtiu vOkhwhfj; njupT nra;Ak; NghJ ,tu;fsp;y; xU ghlj;ij kl;Lk; 

tpUk;Gtuhf ,Ug;gjw;fhd epfo;jfitf; fhz;f. 

D C 

B A 

X 

Y 

𝑎 

𝑏 

40° 95° 


